/ Name:

Math 8 Unit 2 PreTest - Solving Linear Equations

Ir:

Multiple Choice.

-

/ 38 points

(1 point) Solve the equation. w12 = 26 5. (1 point) What arc the solutions?
-12 -l .32—-84411 = 48
@ (o= ) cg S
C. 38 @ + &
D. -14 __In Ly
. ‘ k 1
(1 poiny) Find the solulmt(’% = ~27(_2.) 6. (1point) Solve. -6x + 8 + 3x b 8 -3x
27 - + Q4
‘ = 2 +Ax X
B. -25 A. -2‘?; g g
-29 g
D. 54 B0 1

3.

4.

C.__No Solution i
D. Infinitely Many SolutnoD

(1 point) Solve for p. [-9; .
e 7. (1 point) What would you do first to solve this
A< equation?
C. 41
D. -57

subtract 8

(1 point) Solve. - 1H= -7 B, multiply by _%
. ——+jo |+10 C. add7
B 12 s)—"—‘JSr £ 3 () D adds

Write and solve an equation.

Kepeat
(1 point) Jessie is saving money to buy a new phone thhc plans to sa\low many

weeks w will it take her 1o save S987
C. 7w %m

D, 7+ w = 98; 91 weeks

5 w il e ol [ SO =97

S =98

A.

- 98; 14 weeks

B. w-98 = 7; 105 weeks
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@w all \@

One Solution Infinitely Many Solutions  No Solution

(LM.S.)
x=3 5=05 5=4
9. (2 points) Solve the equation. Od - 15_ 13, (3 points) Solve for x. @— 6 + 41
S \ 14 -2x X
LS
[
-6| -
=25 (K=

S

10. (2 points) Find the solution. ' 7x ’: 5f= -9 14. (3 points) Solve. ~3(m ¥ 20) =3m
e Bipp4+t073Im

(ol
"]/xT‘\L{ 1) r3m

7 %ﬁ%?

. . =N
15. (3 points) Find the solution.  9(x = 4) 527 - 9x

T +36 z7+_;?z

11. (2 poins) Solve.

—x N
26 Tl_]
o
Mo 2D
d="1 v
‘ LK 16. (3 points) Ariel solved the following problem.
12. (3 points) Find the value of y.  3(y -3) 725 Explain her 2 evrors and correct them.

- 5(x 7) What ar¢ the 2 crrors?

4x +
| Didat Yult 377
CAEQE :D;ﬂ{-%,%_—‘sx
w7 Didnet-Sub |
Tx=-7 HKr1=3X-2(
c =
= =i

ro
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18.

. (1 points) Six crs Amusement Park Jias C] ' only costs 15 1o get into the purB but they
charg : M“m can you go on’

7 OneTime. E Re{)@fj' Total

a.Define .\otr b. Write an equation. (1 point) | e. Solve the equation.(2 points)
1 paint)

variable.

/}(:(‘iéeb (@‘L[p(:g> Cé?i:ﬁ
i =8 K =12r1des >

Z) o
(5 points) \ﬂdf‘?a 1s going to live wit Qr; arents in Florida for a month and wants to join a
gym whitcshe is there. Gym A charges 2use the facility. Gym B charges a membership fec
of S90 and only S1.25 per day to usc it. After he gyms be the same cost?

a.Define volur b. Write an equation. (I point) | ¢. Solve the equation.(2 points)

variable. (f point) o ‘:Z’ Og 7

o fn+t29%) 275%K=70
5x =4+ 129%)
X’Aa’d" :I{r -25% %75_ >TS_

—

RS,

d. Andrea plans to go 1o the gym every day while in Florida visiting her grandparents.
Which gyvm she should join and why (sh(m the cost of cach option)? (1 point)

A it A’w:‘,feﬁ- 5\«\0,&\&

s(>1)  ao+i125(3") C;m/m
€
S Y,
\——/

l
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